normalized X?

< x2/ ndf >

<dpp. > (%)

[ normalized x? probability |

Entries

0.06

0.05

0.02

X2

0.04f--i-

0.03f--i-

Entries

Prob(xz)

=== HQM_V0001_R000000001__Global__mkFit_100stable

=== DQM_V0001_R000000001__Global__mkFit_CAND100stable

= 5
S E
A 4
— Fi
2 3f
N
o 2§
\" 1§
_1;
_25
_35
,45
o & !
T 1 ]
o !
0.9H [H -
TS0 2 3
TP n (PCA to beamline)
2.5 A F
2 18F-
2 < 1.6f-
v o
1.4~
1.5 1.2F-
1
1 0.8F-
0.6~
0.5 0.4F-
0.2F-
1.8 o GF
T
@
1 i 0.5
ot 1 1lo 1(l)2 0 10° 102 1071
&T AR(track, jet?
4
3
2
1
0
-1
0.95 -1 ;
1 10%

10



	Contents
	Page 1


